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5 110 15 10 380 35 15 880 =60
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1 A ?40 mm _‘ J
D 42 mm d 25mm E :
A=D/d=1.68 ,
2 cm
E 516 1.1 kg/m
~583 mm 536 ~ 565 mm 0.8 kg/m
W 600 mm K=E/ 20%
w 0.86 ~0.97 G 200 ~ 25
300 g/m A 1.68 ~50 ms
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100.2 m’ 1.78
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/ / /m 90%
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L1 BB | 0.98 ke/m’ 179
1 em 531 m 265. 88 kg
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: 5 cm
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3~5cm
3
3
I I 1~8
2
] -1
/ /m /kg
7325 mm ?#32 mm /kg
1 6 1 1.8 9 1.35 8. 10
2 6 3 3.2 16 2.40 14. 40
3 6 5 3.2 13 1.95 11.90
4 6 7 3.0 12 1. 80 10. 80
5 5 9 3.0 10 1.50 7.50
6 21 11 3.0 10 1.50 31.50
7 17 13 3.0 8 0.74 12.58
7 10 13 3.0 12 1. 80 18. 00
8 9 15 3.0 13 1.95 17.55
86 252 132.33
1 8 1 3.0 12 1. 80 14. 40
2 8 3 3.0 12 1. 80 14. 40
3 27 5 3.0 12 1. 80 48. 60
4 32 7 3.0 8 0.74 23.68
5 17 9 3.0 13 1.95 33.15
93 279 133.55
179 531 265. 88
8
15 cm
9 > 50%
>90%
<3° <15 ecm
9
5 1
#«20 cm
6
2
>10 cm
7 13 ”
2
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2.5%
10% ~20% 5



